H £ 0 & AF & S Al A
202338 & 20laF LBESIH =AY
2AM: FHEL B
B =)ja Fy)

R FEEH ALY CEREED
A BB (B) - MIRAY - BAS Ofl bt T B RS2
=HEH| 1,603,069 1,115,253 487,816
F=gZ &l 1,554,868 1,079,973 474,895

FEEH| At 1,554,868 1,079,973 474,895
ZHIAIY SZ2X& 29,200 24,000 5,200
201 LEt23H| 26,700 23,700 3,000
01 At 2teltl 26,700 23,700 3,000
NEZRYS 2BV 2Y4L
100,000& 7 E 63| 4,200
NEsalol RS 2F+Y
100, 000 20 *33| 6,000
NHASRLS 0™y AS
8,250,000& 23] 16,500
203 @R F=&Y| 2,500 300 2,200
03 Al =X HRFXH| 2,500 300 2,200
DELIAME SSXA HRFZ
2,500,000& 2,500
FEMAS ALS 7,665 3,280 4,385
201 et | 5,865 1,480 4,385
01 At 2teltl 5,865 1,480 4,385
DIAS ™A SHRIEZAK ¢
391,000 *3F * 1 +57H A 5,865
203 @R F=&Y| 1,800 1,800
03 Al Z=XIAH L F=XIH| 1,800 1,800
NMASAIE 25 1,800,000& 1,800
FEAHOHE AMS 1,009,555 1,052,693 A43,138
201 et | 6,868 0 6,868
01 AF22teltl 2,820 0 2,820
mEsng 1,000,000 *2IH At 2,000
Nel=9 M 8,200&*10m"* 1074 820
02 E323H| 4,048 0 4,048
NRERZ 2,530& *1,60024 4,048
203 @R F=&Y| 2,100 2,100
03 Al =X HRFXH| 2,100 2,100
DIHIHLAIY FRFX 2,100,000& 2,100
303 ZA&Z2 587 593 YaN)
01 Z&a=32 587 593 YaN)
DAISX OH2U2 L HAZ2 AxEAZ 587
21X & 1,000,000 * 1% 10
2)2xHE & 900,000 *3% 27
2)3XHE & 014 11,000, 0002 *5% 550
401 AIEHIZL 20| 1,000,000 1,050,000 50,000
01 Al&Hl 1,000,000 1,050,000 250,000
DI HolHE +8 89 1,000,000




A FHEHIR
X =B FH

el FEUTH ALY CRRED
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
2= EH ALY 414,148 414,148
201 2| 12,148 12,148
01 At2t2ltl 12,148 12,148
DRI BIISIE S
100, 0003 »7 & *43] 2,800
DAL EHS S 2 23 70
1,200,000& 1,200
188t X 8,200 *10m* x24 K 1,968
N3AE HEEH A2t =¢
309, 0003 x2Z +5IH A +23] 6,180
203 PR =4H| 2,000 2,000
03 AT EAY| 2,000 2,000
ItRFHFHIALY SRS
2,000,000 2,000
401 Al HIZ 2 CHEI 400,000 400,000
01 Al£HI 400,000 400,000
NZelHE (20EH2) =8 29
100,000, 000 #4JH A 400,000
MR 2= X2 94,300 94,300
201 Zer2d| 29,860 29,860
01 At2t2l bl 29,860 29,860
DIHHLTHAIZ T2 e
391,000 x5 123 23,460
DIHEHAS X2 3|9 AL
100,000 *15& x22] 3,000
NE2e & s 3,000,000& 3,000
NN HE AR =&
100,000 ~4&H 400
203 B4l 3,000 3,000
03 A=A H R =] 3,000 3,000
NEHIAMY K& ZRF2 3,000,000& 3,000
301 LetEd= 1,440 1,440
11 HAIAHIXE = 1,440 1,440
10Ul ZAI=Z 360,000& 42 1,440
401 AlZHIZL SO 60,000 60,000
01 AlZHI 60,000 60,000
DIHEAIY 22X F& AIHBE A
60,000,000 60,000
SAMEE s& 6,860 25,021 18,161
OIOHHEBISA X+ JHE 6,860 25,021 18,161
MHEHISAX ALY 22 6,860 25,021 18,161
201 Zer2d| 5,060 23,221 18,161
02 =294l 5,060 8,371 A3,311
NRERS 2,530&*2,0002 5,060




2A:

FHEH

S SAIMEH &
CH2l: DIOHHEHIZEA X2 W EERSE)
A BB (B) - MIRAY - BAS Ofl bt T B RS2
203 R F&d| 1,800 1,800
03 Al =X HRF Y| 1,800 1,800
DMPUISE XA LR =&
1,800,000& 1,800
HE2H A 41,341 10,259 31,082
Jl2Zdl(F=HEH) 41,341 10,259 31,082
JI2ZHI(F=HEH ) 10,179 10,259 A80
201 et | 5,979 6,059 A80
01 At 2teltl 5,979 6,059 A80
DAIREEH] 10,0002 21 H *43] 840
NEAFY 50,000 67 300
NEMB2AX 40,0002 44 Xt 160
=& SHEY 143,000 & *6H 858
N=EI| 2HEH 220,000& *344 %23 1,320
DEEPIE== 242,000 *444x235| 1,936
NEEI| A28 55,0002 *3J4 165
N=&Il sX2el 100,000 *1CH*43] 400
203 E R F=&Y| 4,200 4,200
04 EA2IHRFZH| 4,200 4,200
1)2521 0|5t 350,000& =123 4,200
JI2Z38 (MWL HAS X2 C) 31,162 0 31,162
201 et | 10,918 10,918
01 At 2teltl 10,918 10,918
DAIREEH] 10,0003 x6H *43| 240
DAZRSE 120&+1,0000K 120
NEISE 30&*1,0000H 30
NEMEB2AT 40,0002 44 Xt 160
NII2YRFN S|
8,000 x6H x204] * 122 »90% 10,368
202 48l 18,144 18,144
01 =UHA b 18,144 18,144
DII2YRFE ol
20,0002 x6F * 14« 122 x90% 18,144
203 H R F=&| 2,100 2,100
04 EN2IHRFEY| 2,100 2,100
1)102! 015t 175,000& x 123 2,100




